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QUESTION 1

When you export an NFS share to an AWS EC2 instance using OnCommand Cloud Manager, which two steps in the
process would it automate? (Choose two.)

A. mapping the LUN to the appropriate igroup

B. creating the LUN In the volume

C. exporting the volume/share to the EC2 Instance
D. creating the volume

Correct Answer: C

QUESTION 2

You have designed and written applications as containers and want to deploy them on a Kubernetes cluster. You want
to use Cloud Volumes ONTAP to provide dynamic persistent storage for your Kubernetes cluster.

In this scenario, what will automate this task?
A. kubectl

B. Istio

C. Terraform

D. Trident

Correct Answer: A

QUESTION 3

You created a volume with Cloud Volumes Service for AWS for an analytics application. The application using the
volume requires maximum performance. You have set the service level to "extreme". All the analysis takes place
between 9:00A.m. and 5:00 p.m.

In this scenario, how would you optimize storage cost?

A. Reduce the capacity of the volume.

B. Use the built-in sync service to move the volume to another region with lower cost storage.

C. Create a new volume with a lower service level.

D. Use the API to lower the service level of the volume during off-peak hours.

Correct Answer: A
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QUESTION 4

Your customer has an E-Series and wants to bock up the volumes to the cloud.

Which two components are required to accomplish this task using SANtricity Cloud Connector? (Choose
two.)

A. AWS S3 bucket

B. Windows 2016 Datacenter Edition as a backup host

C. Cloud Connector License key for SANTtricity

D. Red Hat or SUSE Enterprise Linux Server as a backup host

Correct Answer: AC

QUESTION 5

You are asked to migrate data from Amazon Web Services (AWS) to Azure using Cloud Sync. In this scenario, what is
necessary to synchronize between the source and the target?

A. Transit Gateway
B. Data Broker

C. AWS Data Sync
D. Mediator

Correct Answer: A
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